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Puzzle test for SBI Clerk Mains, IBPS Clerk Mains, IBPS PO Pre and 
SBI PO Pre Exams. 
 
PT Set No 184 
 

Directions: Study the following information carefully and answer the questions given beside. 
 

7 actors viz. S, A, L, M, O, N and K won Best Actor award during the years 2010 and 2016 such 
that in one year only one actor received award and none of the actors received the award 
twice. They won the award for 7 different films that they were part of such that one actor was 
part of one film only. 
  
Further it is known that L received the award for ‘Barfi’ in a leap year.  A received award just 
before K for ‘2 States’. K received award for ‘Fan’ after the award received by L. 2 actor 
received award between the awards received by A and S, who won it for ‘Sultan’. S was not 
the last person to receive award. M received award for ‘Kites’ in an odd numbered year. O was 
awarded for ‘Fitoor’ before M but O was not the first one to receive award. N received award 
for ‘Andhadhun’. 
 
 

1. Which actor was awarded in year 2016?  

A. M   B. K   C. N   D. S   E. None of these 
 

2. In which of the following years, award was given for 2 States? 

A. 2012  B. 2013  C. 2011  D. 2015  E. None of these 
 

3. Who among the following was part of the film which got awarded just before 'Kites'?  

A. L   B. A   C. S   D. K   E. None of these 
 

4. Find the odd one out? 

A. Andhadhun  B. Sultan  C. Barfi   D. Fan   E. Fitoor 
 

5.  How many actors were awarded after M? 

A. 1   B. 2   C. 3   D. 5   E. None of these 
 
Correct Answers: 

1 2 3 4 5 

C B D E A 



 

 

Common explanations : 
 
Reference: 
 
7 actors viz. S,A,L,M,O,N and K won Best Actor award during the years 2010 and 2016 such that in one year 
only one actor received award and none of the actors received the award twice. 
Further it is known that L received the award for ‘Barfi’ in a leap year. 
A received award just before K for ‘2 States’. 
K received award for ‘Fan’ after the award received by L. 
2 actor received award between the awards received by A and S, who won it for ‘Sultan’. 
S was not the last person to receive award. 
  
Inference: 
 
With respect to the first hint, following schedule can be prepared. 
As L received award in a leap year, so only two possible years are 2012 and 2016, but as per third hint K 
received an award after L, thus the only possibility is that L received award in 2012. 
Following two cases are possible with respect to the last hint. 
 

Case-1 

Year Actor Film 

2010 S Sultan 

2011     

2012 L Barfi 

2013 A 2 States 

2014 K Fan 

2015     

2016     

  

Case-2 

Year Actor Film 

2010     

2011 S Sultan 

2012 L Barfi 

2013     

2014 A 2 States 

2015 K Fan 

2016     

  
Reference: 
 
M received award for ‘Kites’ in an odd numbered year. 
O was awarded for ‘Fitoor’ before M but O was not the first one to receive award. 
N received award for ‘Andhadhun’. 
 



 

 

Inference: 
  

Case-1 

Year Actor Film 

2010 S Sultan 

2011 O Fitoor 

2012 L Barfi 

2013 A 2 States 

2014 K Fan 

2015 M Kites 

2016 N Andhadhun 

  
Case-2 gets eliminated as the given hints cannot be fulfilled. 
 

Case-2 [Eliminated] 

Year Actor Film 

2010     

2011 S Sultan 

2012 L Barfi 

2013     

2014 A 2 States 

2015 K Fan 

2016     
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Answers : 
 
1.   Following the final arrangement, we have 

 
N was awarded in 2016. 
 
Hence option C is correct. 

 
 

2. Following the final arrangement, we have 
 

The award for 2 States was given in 2013. 
 
Hence option B is correct. 

 
 

3. Following the final arrangement, we have 
 

K was part of the film which got awarded just before 'Kites'. 
 
Hence option D is correct. 

 
 

4.   Following the final arrangement, we have 
 

Fitoor is the odd one out as the actor part of rest films were awarded in even numbered year. 
 
Hence option E is correct. 
  

 

5. Following the final arrangement, we have 
 

Only one actor was awarded after M. 
 

Hence option A is correct. 
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